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1. What is the remainder when 4°%% is 4, What is
divided by 67

54410
(@) 4 5v5 -2420 - /32 + /50
() 3 equal to?
fc} 2
@ 1 (@ 5
() 5V2
2. If fc) 5J5
37 5,1 (d) V5
13 x+ L

1

4 —
Y z 5. The digit in the units place of the
product 81x 82x 83 x84 x---x99 is

where x, y, z are natural numbers,

then what is z equal to? fa) O
(b) 4
fa) 1
c) 6
(b} 2
fd} 8
c) 3
(d} Cannot be determined due to 6. The square root of
insufficient data
. 3
ioﬂ-+[o-75+(o-75)2 +1)
1-0-75
3. For what value of k is {x -~ 5) a factor
of x3 - 3x2 + kx~10? 1s
(a)j -8 (a) 1
(b) 4 (b} 2
c) 2 fc 3
fd 1 (d 4

B-EFUA-O-PDW/52A 2



1. A 4% w6 ¥ forfsm o s, @ 5+410

. —. Trus
S 4 575 _2y30- V33 + 750 R
27
fa) 4
) 3 fa). 5
fc) 2 (b) 5v2
(d 1 c) 5VS
(d) 5
2. I
%=2+ 11
X+ — 5. PA%A 81x82x83x84x.-x99 &
¥re T % T & FA-a af 37
W&l x, y, z G e §, @ z fea @ o
T 7
(@ 1 (b} 4
b} 2 fc) 6
e} 3 (d) 8
(d) 9 g9 & wnw Fulfe 78 fen
T Hehell
3
6. (075 +[0-75+(0-75)2 +1] 1
1-0.75
3. k% Fra oM % g x3 - 3x2 +kx - 10 =i w1 &7
F1 TH OGS (x - 5) B7
fa) 1
{fa) -8
b) 2
b 4 (b)
fc) 2 ct 3
@ 1 @ 4
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7. What is the remainder obtained 10. What is the number of possible pairs

when 1421x 1423 x 1425 is divided of (P, Q) if the number 357P230Q is
by 12?7 divisible by both 3 and 57
(@ 1 (@) 7
(b) 2
(b} 6
) 3
(@ 4 fe) 5

(d} None of the above
8. Consider the following statements :

iI. The equation 1990x-173y=11

has no solution in integers for 11. The difference between the squares
x and y. of two consecutive odd integers is
2. The equation 3x-12y =7 has always divisible by
no solution in integers for
x and y. {a} 3
Which of the above statements ) 7
is/are correct?
c) 8
fa) 1 only (e
(b) 2 only (d) 16
fc) Both 1 and 2
fd} Neither 1 nor 2 12. The expression

3.2 3 2 2.2 2
X -x“pt+d4x“pt-4x + 3xg< - 3xpt
9. A student was asked to multiply 9 P p q q P

a number by 25. He instead
multiplied the number by 52 and is divisible by
got the answer 324 more than the
correct answer. The number to be

multiplied was fa) (x—1} only
(@) 12 (b) (x -3} only
() 15
{c) both (x-1) and {x - 3}
fc} 25
(d) 32 {d) neither (x -1} nor (x - 3)

B-EFUA-O-PDW/52A 4



7. 1421x1423%x 1425 & 12 ¥ fawfm 10. At ¥ 357P25Q, 3 3R 5 T B

F TGRS F1 37 fasg 2, @ (P, Q) ¥ §wm Fwt A
T 4 27
(@ 1
(b) 2 (aj 7
(d)} 4 @ s
8. Frfafiaa wedl ® fam Hifv (d) 37 & @ H1E T
1. EHERO 1990x -173y=11
x R y & fore quriet # 1d 5ot T
! 11. < sumra fwm gofet & am &1 o= g
2. WU 3x-12y=7 F x I y et faamsa &7
& fore quifent & i3 & ff R '
(@} 3
IR w4 A BE-A/8 T R/R7 '
) 7
fa) Fad 1
(b) FadA 2 c) 8
f¢) 1323 {(dj 16

(d) Ad1mAd2
12, <

9. uF o & fhd TEwm w25 & 0 FA x3g? - x3pt+ax2pt —4x2g? + 3xg? — 3xpt
¥ e w31 T 3@ W wEm H 25 &

A W 52 ¥ Om W T s 3w g ey 27
IW, 9 I T 324 e u1| o d@en
! Tom fRan ST o 97 w27 (@) A (x - 1)
fa) 12 ) A (x - 3)
(b) 15
(c) (x-—1) 3 (x -3
{c) 25
(d) 32 (d) AWM (x-)3MMAT (x-3

B-EFUA-O-PDW/52A 5 [P.T. O.



13. The difference between compound

interest and simple interest at the
same rate of interest R percent per
annum on an amount of ¥ 15,000
for 2 years is ¥ 96. What is the
value of R?

(al 8
(b) 10
e 12

{d} Cannot be determined due to
insufficient data

14. What is the maximum value of m if

the number

N=35x45x53x60x124 %75

is divisible by 5™M?

fa) 4
b) 5
c) 6
(d) 7

15. A milkman claims to sell milk at its

cost price only, but he is making a
profit of 20% since he has mixed
some amount of water in the milk.
What is the percentage of milk in
the mixture?

(aj 80%
(b) 230 %
(c) 75%

B-EFUA-O-PDW/52A

16.

17,

18.

There 1s 60% increase in an amount

in 6 years at simple interest. What
will be the compound interest on
¥ 12,000 after 3 years at the same
rate of interest?

(@) ¥ 2,160
(b) ¥ 3,120
c) & 3,972
(d) ¥ 6,240

16 litres of a mixture contains
milk and water in the ratio 5: 3. If
4 litres of milk is added to this
mixture, the ratio of milk to water
in the new mixture would be

(@ 2:1
() 7:3
fc) 4:3
(d 8:3

A person could save 10% of his

income. But 2 years later, when his
income increased by 20%, he could
save the same amount only as
before. By how much percentage
has his expenditure increased?

(@) 22%%
1
b) 23-%
(b) 3
fc) 24%%

(d) 25%%



13. £15,000 i TH | 2 =f ¥ fow

THIG AN T R A °H, T A

16. et Tfyi # 6 991 § 91umW =4 W 60%

i gfg @dt 21 € 12,000 & wfy =,

e | R yfoya aiffe |, # 96 = 3 aut & fou 3t =9 @ W ey =
3= | R I A 941 87 ExIRuINd
fa) 8 {a) ¥ 2,160
(bj 10 (b} ¥ 3,120
fe) 12 c) & 3,972
(d) 9ain g3 & Hrer Pyt T G (d) ¥ 6,240
T HeFll
17. 16 A & & My § gg 3R ol 5: 3
14. IR @@= % 37gud 4 21 I 38 fwor A 4 e gy
N=35x45x55% 60x 124 x 75 S foren fean s, @ A Foa # Y
Ot | S1gaTd # g
5™ @ favyrsw 2, @ m =1 fteran a9
1 27 a] 2:1
(@) 4 b)) 7:3
B S ¢ 4:3
© 6 A (d) 8:3

dy 7

18, UH =fth T 3@ F 10% @ THd W
RN foReg 2 AW AR, FE I A 20%
93 T, 7@ +ft 9% =t foh & afw

F9d L Gl | IGHR1 =99 T gfave 5€

15. UF gy foskan 78 oran a8 for 98 qu #
Hhael AFG FIHd W I @ 8, fhg @
20% T B T 8, Fifh 364 qu # §D

T 37
e & urt fiemn 21 zw fham & qm
foper wfewra 87 (a) 22%%
(@) 80%
1
(b} 23=%
250, 3
() — %
() 242%
(c) 75% 9
200, 2.,
@ =% (d) 255 %
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19, In how much time would the simple

interest on a principal amount be
0-125 times the principal amount
at 10% per annum?

1
a) 1— years
{a) i
3
h) 1— years
{b) 27
fc) 2—1 ears
Y Yy

(d} 22 years

20. A man rows downstream 32 km and

14 km upstream, and he takes
6 hours to cover each distance.
What is the speed of the current?

faj 0:-5km/hr
fb) 1 km/hr
fcj 1-5 km/hr

fdl 2 km/hr

21. A car travels the first one-third of

a certain distance with a speed
of 10 km/hr, the next one-third
distance with a speed of 20 km/hr
and the last one-third distance with
a speed of 60 km/hr. The average
speed of the car for the whale
journey is

{a) 18 km/hr
(b) 24 km/hr
{c) 30 km/hr

{d) 36 km/hr

B-EFUA-O-PDW/52A

22, Two persons A and B start

simultanecusly from two places
¢ km apart, and walk in the same
direction. If A travels at the rate
of pkm/hr and B travels at the rate
of g km/hr, then A has travelled
before he overtakes B a distance of

{a) 9 km
p+q
) < km
p-4q
0 -2 km
p-q
) 2% xm
p+q

23. For which wvalue of k does the

pair of equations x? —yf2 =0 and
(x—k)2 +y2 =1 yield a unique

positive solution of x?
(a) 2

(b} O

fc) 2

(d) -v2

24. A person goes to a market between

4 p.m. and 5 p.m. When he comes
back, he finds that the hour hand
and minute hand have interchanged
their positions. For how much time
(approximately) was he out of his
house?

fa) 55-25 minutes
(b} 55-30 minutes
{c) 55-34 minutes
(d} 55-38 minutes



19, Tt gowm W 10% wloed i @ ¥

Ry =S e @ d g A
0-125 71 8 e ’?

(a} 121auf

3
(b) 1Zatf

(c) Qéaﬁf

3
(d) 226!1'5

20. T =t 32km U H T # awn

14 km 910 ! fgfa fan & 7@ @
i R TR gt T FAF 6 U
T &1 9 Y e @9 87

(@) 0-5 km/=9
(b} 1 km/991
(¢} 1.5 km/ova

(d) 2 km /90

21. TF #R & g0 H veell wH-fae gl

10 km/9% & = ¥, A T~
Tl 20 km/ /= i A | FUT IR
T-faETs gt 60 km/avel ) 919 @ T
wdl B g amn # wR A e =
7 87

{a) 18 km/=0el
(b) 24 km/99E
(c) 30 km/=v

(d) 36 km /T

B-EFUA-O-PDW/52A

22, ckmHl R BHwEI @ AW B

T =t o & T A w & vy § =
& Fd &1 AR A, p km/wva i T
¥ I @ A B, g km /9021 i 9§
wofal &, @ B @ 3 FEem @ TEe A
foerht 28t o e 87

fa) % ym
btg

k) L5 km
P-q

{c} 9° xm
P-q

[d 25 km
p+q

23. k % feg om F fou  wfieon

x2-y? =0 M (x-k)2+y’ =1
W, x H1 GF Al SIS g am?
@} 2

(b) O

fc) 2

(d) -2

24, T% Sk WG 4 3 5 59 & == T

ST B | 59 &% aTod a7 g, | 9 3 R
g2 g fire ) wgE 3 J e I
sg forw §) fran oHg (srgame:) & f&u
4% 3 WA T 17

{a) 55-25 e
(b) 55-30 T
(c) 5534 fire
(d) 55.38fFe

[P.T.O.



25. The efficiency of P is twice that of Q,

whereas the efficiency of P and Q
together is three times that of R If
P, ¢ and R work together on a job,
in what ratio should they share
their earnings?

fa) 2:1:1
fh) 4:2:1
fef 4:3:2

(d} 4:2:3

26. In a flight of 600 km, an aircraft was

stowed down due to bad weather.
Its average speed for the trip was
reduced by 200 km/hr and the time
of flight increased by 30 minutes.
The duration of the flight is

fa) 1 hour
(b} 2 hours
fc) 3 hours

(d} 4 hours

27. With a uniform speed, a car covers

a distance in 8 hours. Had the
speed been increased by 4 km/hr,
the same distance could have been
covered in 7 hours and 30 minutes.
What is the distance covered?

(a) 420 km
(b) 480 km
(¢ 520 km

(d) 640 km

B-EFUA-O-PDW/52A
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28. A runs 1g times as fast as B. If A

gives B eé. start of 80 m, how far
must the winning post from the
starting point be so that A and B
might reach it at the same time?

fa) 200 m
() 300 m
fcj 270 m
{d) 160 m

29, A thief is noticed by a policeman

from a distance of 200 m. The thief
starts running and the policeman
chases him, The thief and
the policeman run at the speed
of 10 km/hr and 11 km/hr respec-
tively. What is the distance between
them after 6 minutes?

faj 100 m
(b} 120 m
fc} 150 m
fd) 160 m

30. When a ball bounces, 1t rises to %

of the height from which it fell. If
the ball is dropped from a height of
36 m, how high will it rise at the

third bounce?

(a) IO%m
(b) 10% m
(c) IQém
(d) 12% m



25. P, Q I UL I IFaT ¥ HH w1 §

Tl P 3R O faes R &t 3man =
T 2 @ FM Fa &1 Ak fedt w5 =
P, Q 3R R faes i, @t 37eh 39 3AA
o ergura § Sf?

fa) 2:1:1
f(b) 4:2:1
fc) 4:3:2

fd) 4:2:3

26. 600 km F ¥ YA ¥ v Rum @

e & Fer i g ST 21 A % g
o & ef\e =1er 200 km /9w &
3 o § 3 IEM W wHg 30 T wg
ST %1 38 I g Hafy F 7

faj 1 90
{b) 2 ¥
fc] 3 ®u

(d) 4 °ve

27. T F1 5 g B twreEH = @ 8 uw

d T w3 gl 9 # 4 km/E
Fgl fer wmen, @ a@d@t @@ 7 W s
30 fire @ &g & w1 wadt o) qg g
gt et 27

(a) 420 km
(b) 480 km
{c) 520 km

(d) 640 km

B-EFUA-O-PDW/52A
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28. A, B! 3TaaT 1%@1%.@{3‘!@%?&8

w1 IEm fag A § omitm fag @
80m M 3, @ A REs fog &
wey T ) gt et g =g, arfs
A ¥R B U# &9 W T8 gH {

{a) 200 m
{b) 300 m
{fc) 270 m
{d) 160 m

29. TF Ro@ wh I & 200m B T A

AT B | 9 AR I[& il g o faard
g We1 w31 =R iR faundt wEn
10 km /921 3R 11 km/=ver & fa &
are 21 6 fie & 918 399 e it gl
fopert git?
fa) 100'm
(b} 120 m
c) 150 m

(d} 160 m

30. Fr T2 v o 4, et 3= g fiwed

%mﬁ%%ﬂﬁﬁwa‘cﬁ%lﬁw
T 36 m N F=E 4 i s, @

ot fadt 3o a7 feeft Iw e
(a) IOém
(b) IO%m
(c) 12%!11
{d] 12%m
[P.T. O.



31. A light was seen regularly at

an interval of 13 seconds. [t was
seen for the first time at 1 hour
54 minutes 50 seconds {a.m.) and
the last time at 3 hours 17 minutes
49 seconds {a.m.). How many times
was the light seen?

(a) 375
(b) 378
(c) 383
(d) 384

32. An automobile financer claims to be

lending money at simple interest,
but he includes the interest every
six months for calculating the
principal. If he is charging an
interest at the rate of 10%, the
effective rate of interest becomes

(@) 10-25%
(b} 10-5%
) 10-75%

(d) 11%

33. What are the possible solutions for x

of the equation x"r; = Yx*, where

Xx and n are positive integers?

faj 0, n
b) 1, n
(¢} n, n?
(d) 1, n?

B-EFUA-O-PDW/52A
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34. et A and B be finite non-empty
sets with the number of elements
in A =m and number of elements in
B=rn. Let m > n. If for some integer
k =1, the number of non-empty
subsets of A =2% + the number of
non-empty subsets of B, then which
one of the following is correct?
faj m=n+2
(b m=n+1
f¢} m=n+p for some odd prime

number p

{d m=n+t for some composite
number ¢

35. If n is a natural number and
n=p,ip;2p3®, where p|, py, p3
are distinct prime factors, then the
number of prime factors for n is
fa) x;+xq,+x5
(b} x\x,x3
fc) (xy+1}{xp +1)(x5 +1)
fd) None of the above

36. Consider the following statements
for the sequence of numbers given
below :

11, 111, 1111, 11111, -

1. Each number can be expressed
in the form (4m + 3), where m is
a natural number.

2. Some numbers are squares.

Which of the above statements
is/are correct?

{fa} 1 only

(b) 2 only

{¢/ Both 1 and 2
{dj Neither 1 nor 2



31. # wem Efa w9 ¥ 13 %2 &

SR W 3] AT 3| ISl 9 I [ie
1 s 54 fime 50 dehe R efad
IR IR 3 9 17 e 49 ThE W
TG T IW YR W F@ e aR 3@
e

{a) 375
(b) 378
(c) 383

(d) 384

32. T& AR fde % el R B ag

IR0 S W ¥ IUR I &, | 98 |
FE UG W geud H e & fe wd
sq7et gfdiferd o o 21 9k 98 10% &
W SE AW R, A R THE W
1 g Wt 37

(a) 10-25%
(b) 10-5%
(c) 10-75%

(d) 11%

33. gHiww xVX = Yx* F, W@ x 3 n

YRS U, x %k (O §AE ES
HH-8 27

faj O, n
fb) 1, n
2

e n,n

{dj 1, n?
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35 Ik n

34. oA T f& 4 R B wfifim, sl

T § a9 A § aEl & 56 = m 3

B T =l & §&=n 3 WR Wi

m>n 8 o Rl gt k21 F fog,

A % s Iwmg=rl fi w@n =2k + B

* ufts IwmgwE A ogE, @

Ffefige 8 & F9-a@1 wd 87

fal m=n+2

(b)) m=n+1l

¢} m=n+p, [FE foaq s TEn
p & fo

{d) m=n+t, B amsg gEm % T

e T S 1 T S
n=plp?py®, W& p;, p,. ps fi
W THEE B, @ n F AW
TorEvEl it g w37

{a) xy+x9+x3

(b) x1x5x3

(c) (% +1)(x, + 1) (x5 +1)

(d} g B ¥ FIE A&

36. g&mat 11, 111, 1111, 11111, ... %

sgen & foe frefafaa el o famn

Fifsr .

1. U% GEA1 (4m + 3} F 4 B T
H = gt B, W& m = w7 Qe
2l

2. Y gL & 8|

IRt YAt A W FA-A0/9 w/E 2/27
(@) +aE 1

(b) HIA 2

c) 1 3W 23H

(d) ITq|1mad2

[P.T.O.



37. The HCF and LCM of two

peolynomials are (x+ y) and

(3x5+5x4y+2x3y2— 3x2y3— Sxya* —2y5)

respectively. If one of the
polynomials is (x2 —-y2 }, then the
other polynomial is

(a} 3x% - 8x3y+10x2y?

+7’xy3 - 2y4

(b) 3x* -8xy-10x2y>
+7xy3 +2y4

fe) 3x%+8x3y+10x2%y?
+7xy3 +2y4

fd) 3x* +8x3y-10x2y>?
+7xy3 +2y4

38. Let p be a prime number other than

2 or 3. One would like to express
the vulgar fraction 1/ p in the form
of a recurring decimal. Then the
decimal will be

(a) a pure recurring decimal
and its period will be
necessarily {p - 1}

{6} a mixed recurring decimal
and its period will be
necessarily (p-1)

{c/ a pure recurring decimal
and its period will be some
factor of (p-1)

(d) a mixed recurring decimal
and its period will be some
factor of (p-1)

B-EFUA-O-PDW/52A
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39. Consider the following statements :

1. There exists only one prime
number psuch that (17p+1)is
a square.

2. If x is the product of 10
consecutive prime numbers

starting from 2, then {x+1) is
also a prime number.

Which of the above statements
is/are correct?

fa) 1 only

{b) 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2

40. The sign of the quadratic pelynomial

ax? +bx+c is always positive if
{a) ais positive and b% -4ac< 0
(b} a is positive and b? -4ac>0

f¢) a can be any real number
and b2 —4ac<0

fdi a can be any real number
and b? -4acz2 0



37. 9 SgUE & AEAW @HITAdS qUl SYaH

ETIETd FES: (x + y) 3R

(3x5+ 5x4y+2x3y2-3x2y3—5xy4 —2y5}

TR e agm (2 -y B, A
TE g = R

(@) 3x?%-8x3y+10x2y?
+’i’xy3 —2y4

() 3x* - 8x3y-10x2y?
+7xy® + 2yt

(c) 3x*+8x3y+10x2y?
+7xy3 +2y4

d) 3x*+8x3y-10x?y?
+7xy° +2y°

38, T e fF p, 2 T 5 F W FH

AT g §) IR g fm 1/p |
3TEd ZImed & &9 § oI fRa W, &
9% SIHTE F1 2T

(@) TF GE AEd wHed A IhwH
ATEdF EYEFH T W (p- 1) T

(b) TH Ty ored TwEEE R @
G ETH T A (p- ) TW

) T [E oEd e R I3HH
AESF (p - 1) F BT PHETS FW

d) & Ty sad zwmem oft 3@
3ade (p - 1) F1 HE [OTETE FM
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. Frafafes svA ® faam Hifse

1. HOd TF @ A" ST p H
AR W UER B (17p+ 1) TH
1 g

2. TR x, 2 ¥ IE g4 el 10 FHATE
W wEEl FOPEEA g, @
(x + 1) oft T 39T w@ R

g weEl § @ FA-A1/8 G 2 /RY

(a) I 1

(b) HIA 2

(c) 132 I

[d JFa1sirad2

40. fgamdt EERE ax? +bx+c ¥ FE gea

YT g, At

(a) a ¥ TS & 3 b2 ~4ac< 0

{b) @ VTR € 3R b2 ~4acz 0

(c) a ® s awafa®w wEn 8 w8
M b2 -4ac< 0

(d) a @ o aRalas gem 8 aedl ®
M b2 -4acz20

[P.T.O.



41. If A, G and H are the arithmetic, 43, There are five parties A, B, C, Dand E

geometric and harmonic means in an election. Out of total 100000
between a and b respectively, then votes cast, 36000 were cast to
which ane of the following relations party A, 24000 to party B, 18000 to
is correct? party C, 7000 to party D and rest

to party E. What angle will be

) allocated for party E in the pie
fa) G is the geometric mean chart?

between A and H

fa) 15°

fb} A is the arithmetic mean (b} 54
between G and H {c} ©60°

{dat 72°

¢/ H is the harmonic mean
between A and G 44, Out of 532 savings accounts held

in a post office, 218 accounts
have deposits over § 10,000 each.
fd) None of the above Further, in 302 accounts, the first
or sole depositors are men, of
which the deposits exceed ¥ 10,000
in 102 accounts. In how many

42. The geometric mean of three accounts the first or sole depositors

positive numbers «, b, ¢ is 3 and are women and the deposits are
the geometric mean of another up to ¥ 10,000 only?
three positive numbers d, e, f is 4. faj 116
Also, at least three elements in the
o (b} 114
set {a, b, ¢, d, e, [} are distinct.
Which one of the following fc 100
inequalities gives the best

) d) Cannot be determined from the
information about M, the arithmetic (d) & €

mean of the six numbers? given data
45, If
(@ M>2J3 xX+y+z=0
then x4 Yyl +z3+ 3xyz is
(b) M>3-5 equal to
(a) O
fc/ M=3-5
(b) 6xyz
¢ 12xyz
fd}) It is not possible to set any (el Y
precise lower limit for M (d} xyz
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41, afz g 3 b % 9 A, G BN H FAW:

AR AL, TP W 3R §UcHe "I
%, @ Fefafed gerl & & FR-w &
wa 27

@ A H% g G meA B

(b} G 3N HF 9 A = W 8

) A3 GF &\ Hgueows meg g

(d} I A | H3 T

42, 9 waews wEAel a, b, ¢ & IR

e 3 ¥ 3 = R gAeds gt
d, e, f & T W 4 F| TL=A
a, b, c, d, e, f} B FA-W-FW T
firs g §| frsfafga srafiemett & 3
#-f w smwfie @ oy el &
A 9 M & faww # waw gEn
At 37

(@ M >2J3

f(b) M >3-5

) Mz23-5

d MF ®E fF-d= P dmn Fraa
FET GFE IE R

B-EFUA-O-PDW/52A 17

43. wF = # A, B, ¢, b 3R E 4N &

£1 2@ T FA 100000 WA H H T A
# 36000, TA B H 24000, T C Hi
18000, & D T 7000 3 IY ¥ A
E =1 fict goiw 3 79 E % g sl-w
o Fruifa gme

(@) 15°
(b) 54°
(c) 60°
d) 72

44. T SR H W@ Y 532 §9d Tl a@ne

#3218 s@si § @+ ® €10,000 @
wftrer s fog e €1 emt ey man R R
302 @l # wuH 9 UHHE SR
ey ¥, fad @ 102 d@red & s
it #10,000 ¥ dfts 31 fFR
ST B guw I T SHEd] Afeer @
a1 w1 UMY Sad € 10,000 9% &7

@) 116

(b) 114

fcj 100
(d) R g ew g Puffe 5@ & .
LSEI
45, =l x+y+z=0 2, at

x3 +y® + 2% + 3xyz Trms TR 37
) 0

{b) 6 xyz
) 12xyz
(d) xyz

[P.T.O.



46. If three metallic spheres of radii 6 cm, 50. A cylindrical vessel of radius 4 cm

& cmm and 10 cm are melted to form contains water. A solid sphere of
a single sphere, then the diameter radius 3 cm is lowered into the
of the new sphere will be water until it is  completely
immersed. The water level in the
fa) 12 cm I
vessel will rise by
b} 24
(o) cm (@ 1.5cm
30
() cm () 2 cm
d] 36
(d) 36 cm (¢) 2-25em
47. If each interior angle of a regular (d) 4-5cm
polygon is 135°, then the number of
diagonals of the polygon is equal to 51. If the height of a right circular cone
() 54 is increased by 200% and the
radius of the base is reduced by
(b} 48 50%, then the volume of the cone
fc} 20 fa) remains unaltered
fdj 18 {b) decreases by 25%

. {¢} increases by 25%
48. The sides of a triangular field are

41 m, 40 m and 9 m. The number of (d) increases by 50%
rose beds that can be prepared in
the field if each rose bed, on an 52, The angles of a triangle are in the
average, needs 900 square cm ratio 4 : 1: 1. Then the ratio of the
space, is largest side to the perimeter is
(a} 2000 a 2 b 1

@3 ®) 2+43
{bj 1800

J3 2

c, 900 ) —— dr —
(c) (c) 213 (d} 573
{dj 800

53. Let a, b, c be the sides of a right
triangle, where ¢ is the hypotenuse.
The radius of the circle which
touches the sides of the triangle is

faj (a+b-c)/2

49. The ratio of the outer and inner
perimeters of a circular path is
23 : 22. If the path is 5 m wide, the
diameter of the inner circle is

fa) 55 m
{b) 110 m (b) (a+b+c)/2
fc) 220 m fc) (a+2b+2c)/2
fd) 230 m (d) {(2a+2b-c)/2

B-EFUA-O-FDW/52A 18



46, qﬁGcm, 8 cm 3R 10 cm et s

1 uifas M & fiaae & men
SR SC, U el AR 57 FOmY

50. 4 cm B0 9 U Yo #dq d ol

2| 3 cm F= 9N wF 39 M Ol §
FAR W R 9= aok % 98 @ 9@ € =@

{a) 12 cm 3 | "dq # gl #w &R AT T
ElLi

{b) 24 em
fa) 1-5cm

fcj 30 cm
fb) 2 cm

{d) 36 cm
{ef 2-25cm

47. 7R fah W I N TEE FWH (d) 4-5cm
o -a3[ ﬁa;uﬁ EﬁT hd . -
;315%3’ T e 51. 3¢ ©% w=gdR TF H FAE 200% TG

& STU e 3 SR F B 50% #E
F R T, A I\ UG FT AT

(b) 48 {a) smfEtdd a8
fe) 20 (b) 25% FW B A B
(d) 18 (c) 25% g T 2

fa) 54

(d) 50% &g T 2
52. Th B % AW 4:1:1 % AgI@ A E
e A g I e & gfem R/

48 s Bl @a &t @l 41m, 40m
3 om ¥ @ Ta # T f e
FiET fAR H W wwd §, IR T

Wﬁmﬁ@WQOOaﬁcmzﬁ 37

SPTE oh! HTavgeRdT &7 g 2&2[1 ' 1
fa) 2000 fa) 3 {bj 2 5
(b) 1800 J3 2
c) 900 (c 2++/3 (d) 1+43
{d) 800

53. oW wifve fF o wEm fye B yed
a, b,c%,ﬁﬁcﬁ%l?ﬂ'@'ﬁ@
foromr, st Bge R geed @ ol W

49. TH I TU F AEA dA1 AT qRe
w1 o 23:22 B AR 9w 5 m =

2, @ ardftes g9 % =amE R/ 87 3, a7

(@ 55m @) (a+b-c)/2
) 110 m (b) {a+b+c)/2
(c) 220 m (c) {a+2b+2c)/2
(d) 230 m (d) (2a+2b-c)/2
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54. The area of the largest triangle that 58. Iftan{A+ B)=+/3 and tan A = 1, then

can be inscribed in a semicircle of tan{A - B) is equal to
radius r is
(@ r2 fa) 0
(b) 2r2
(b) 1
fc) 3r2
(d} 47’2 1
C RN—
(c) 7

55. AD is the diameter of a circle and
AB is a chord. i AD= 34 cm,

AB=30 cm, the distance of AB (d) J2
from the centre of the circle is
fa} 17 cm
(b} 15 em 59, If the radius of a sphere is increased
fc; 13 cm by 10%, then the volume will be
i b
(@ 8 cm increased by
.10
56. If a star figure is formed by fa) 33-1%

elongating the sides of a regular

pentagon, then the measure of each (b) 30%

angle at the angular points of the

star figure is fc] S50%

@ 39 {d} 10%

(b} 35°

fc) 32°

(d) 30° 60. ABCD} is a parallelogram, where

AB: AD=2:1 One of the angles of
the paralielogram is 60°. The two

57. Four equal-sized maximum circular diagonals are in the ratio

plates are cut off from a square
paper sheet of area 784 square cm.

7:3
The circumference of each plate is fa)
fa) 11 cm (b} ¥7:43
{b) 22 cm
fcg 7:5
fc} 33 cm
{d} 44 cm {d} None of the above

B-EFUA-O-PDW/52A 20



54. rﬁwm@a@ﬂ%m@ﬁm 58.3ﬁtan(A+B]=J§3ﬁItanA=1%,?ﬁ

g AT e G 1 Sea @ 87 tan(A - B) fras st 7
fa) r?

0
(b) 2r? ”
(c) 3r? (b) 1
(d) 4r?

1
{cj ﬁ

55, fdl 99 %1 W AD ? 3R 306 @ Sfan
AB %) a2 AD = 34 cm, AB= 30cm,

@ 7 F FR Y AB R @ T 27 (d) 2

fa) 17 cm

{(b) 15 cm

fc) 13 cm 59. If ts M H B=w 10% 981 @ S, @

([d) 8 cm IqFHT IR THa 5g Sem?

56. I TH g9 qEYS F YW H age [ (a} 33-1%

T an B A @ Iwh &, @ AR R b 30%

aFf & wifg gl W A% ®m A

TS I R7 (c) 50%

@ ¢ (d) 10%

(b} 35°

[c) 32

(d) 30° 60. ABCD W WAWR w=gdw 2, <®
AB:AD=2:1% S8R IgyF # &

57. 784 T cm ATHEA T TH TIFER HOW FO 60° 2| GAA TGS F AT forRol

¥ 3 & g oTEN i 9w wd ¥ 7 form argama 4§ 7

T i wr WP S E e

wiz F) qftfy Fm 27 @) 7:3

(@ 11 cm (b} J7:J3

fb} 22 cm
fc) 7:5

fcj 33 cm

(d) 44 cm (d) 39§} WS T
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62, If cosA=tanB,

61. Consider the following statements :

1. Let D be a point on the side
BC of a triangle ABC. If area of
triangle ABD = area of triangle
ACD, then for all points O on
AD, area of triangle ABO = area
of triangle ACO.

2. Ilf Gis the point of concurrence
of the medians of a triangle
ABC, then area of triangle
ABG=area of triangle BCG
= area of triangle ACG.

Which of the above statements
is/are correct?

fa) 1 only
{b) 2 only
{c)] Both 1 and 2

{d) Neither 1 nor 2

cos B=tanC and
cosC = tan A, then sin A is equal to

J5-1
4

(@)

(b)

M ‘

@

(c)

&
s

(d)

B-EFUA-O-PDW/52A
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63.

If

3-tan? A
1-3tan? A

=K

where K is a real number, then
cosec A(3sin A -4sin> A)is equal to

@ 22
{b) %, where %SK <3
{c) ‘}%, where K<é or K>3

64. The angles of elevation of the top of a

tower from two points P and @ at
distances m? and n? respectively,
from the base and in the same
straight line with it are
complementary. The height of the
tower is

{a) (mn)'/2

(b) mn/?

1/2

fc) m''“n

(d) mn



61. Fr=feiRan oAt W o= Aifs ; 63. o 3—tan2A=KEﬁK@ o

1. e offse % @ fiqe ABC 1-3tan? A
Y& BC W D W& forg 31 Al Bgw & 2, M cosec A(3sinA-4sin® A)
ABD & 8% = P& ACD = foreh s 27

&3%ct, A AD T asft fagatt 0 &
for, By ABO w1 du%e = By

ACO &1 gF%dl | (a) ;—Ifl
2. i figsr ABC &t miftiemait &

A frg G 3, @ fge ABG k1

F & = B BCG 1 dmw (b) - T SK<3

= Bt ACG %1 &)
IR TR A 9 -/ (0] —;Ifl,aﬁK<%mK>3
(a) FaA 1

2K

(b) e 2 @ 2 \
(c) 13 23

[d) IR 1MIA2

64. P 3R Q o fog = A & mum ®

62. R cosA=tanB, cosB=tanC 3R FA: m? WM n? NP R & g
cosC = tan A, 9 sin A fFas SR 87 T o &g §1 dm % 3 &, PR O
d, 3997 HW O&F 3 HAR R FEE
@ Y51 0 8
4
1/2
J5-1 @ {mn)
(b) —
(b) mni/2
J3-1
{c) 7
fc) ml/'2n
J3-1
(@ 2 [d) mn
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65. The angle of elevation of a cloud from

66.

67,

a point 200 m above a lake is 3(F
and the angle of depression of its
reflection in the lake is 60°. The
height of the cloud is

{aj 200 m
fb) 300 m
fc; 400 m
(d] 600 m

H

tanA+cotA=4
then tan® A+cot* A is equal to
faj 110
fb} 191
fc} 80
{d} 194

If
[1-sinx q_l—sinx y o _COSX
1+sinx’ cosx | l+sinx

then which of the following is/are
carrect?

l. p=g=r
2. pzzqr

Select the correct answer using the
code given below.

fa) 1 only

(b} 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

B-EFUA-O-PDW/52A
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68. Consider the following :

cos A sin A
l1-tanA 1l-cotA
=sinA+cosA

2. {1-sinA-cosA}?
=2(1-sinA)(1+cosA)

Which of the above is/are
identity/identities?

faj 1 only
{b} 2 only
fc; Both 1| and 2
fd} Neither 1 nor 2
69. ABC is a triangle right angled at

B and AB:BC=3:4. What is
sin A +sin B+ sin C equal to?

{aj 2

1

[u—y

(b)

o

—

12
5

{c/

{dj 3

70. The value of

cosec? 67° + sec? 57° —cot? 33°- tan? 23°
15
fa) 242
{b) 2
(c) ~2
{d) 0



65. W W@ & 200m IW fom = fag &
forelt aed 1 3999 | 30° & N 3G

68. Fmafafad = fa=m Sifsu

cos A sin A
#ia o wfafeem &1 smT S 600 B 1-tanA 1-cotA
IR H T9E 7 87 =sinA+cosA
, 2
(@) 200 m 2. {(l-sinA-cosA)
=2(1-s8inA)(1+cosA)
(b} 300 m
I # @ FH-T1/F T B3
fc) 400 m
(@) Fad 1
(d) 600 m
(b) FaA 2
66. af tanA+cotA=4, D ) 1¥R23
tan® A + cot? A FFuS TR 87 (@) Id13MmIE2
fa) 110
bl 191 69. ABC & fqe ®, St B W wwHW
(®) @ ¢ 3N AB:BC=3:4 gl
fc) 80 sin A + sin B + sin C frgs sa= 27
d} 194 fa 2
11
67. =i bl
_ ’l—sinx _l-sinx _ cosx 12
P Trsine 17 Gosx | 1+sinx {c) 5
@ fafofaa & @ FR-m/8 a8 &/87 @ 3
p=q=r
2. p?=gr
70. cosec? 67° + sec? 57° —cot? 33°
fo fiw T w w WM W EE IN ~tan?23°
|
ER F A 1 87
Fae 1
@ (@) 2J2
(b} HaA 2 ®) 2
{c) 13ﬁ( Qa:ﬁ {C} \/'2'
[d a@1Mmad2 (d) O
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71. Consider the following statements :
1. There exists at least one
value of x between 0 and —

which satisfies the equation

4

sin® x - 2sin? x-1=0.

2. sinl. 5 is greater than cosl- 5
Which of the above statements
is/are correct?

{a) 1 only

(b} 2 only

fe) Both 1 and 2

(d) Neither 1 nor 2

72. From the top of a tower, the angles of
depression of two objects P and ©Q
{sittated on the ground on the
same side of the tower) separated
at a distance of 100(3-+/3) m are
45° and 60° respectively. The height
of the tower is

fa} 200 m
() 250 m
fc} 300 m

{d] None of the above

73. If
sinx+cosx=c¢
then sin® x + cos® x is equal to
1+ 6¢% - 3¢?
(@) ———
16
1+ 6c? - 3¢*
p) 2 Tt
(b} )
1+ 6c2 +3c*
fcf ——————
16
1+ 6¢? + 3¢*
(g ——

4

B-EFUA-O-PDW/52A

74. Consider the following statements :

1. There exists no value of x such
that

1

———=44+2J3, O<x<?™
1-sinx 2

2. sinx=3%"% does not hold
good for any real x.

Which of the above statements
is/are correct?

fa) 1 only
{b} 2 only
{cj Both 1 and 2

{cd) Neither 1 nor 2

75. A triangle ABC is inscribed in a
circle. If sum of the squares of
sides of the triangle is equal to
twice the square of the diameter,

then sin? A+sin? B+sin?C is
equal to

fa) 2

{b) 3

(c) 4

{d} None of the above



71. Ffafem ot w ffmm fifvw

1. oaﬁxg%aﬂaxwm-ﬁr—m@

A ofee # 0§, St wEiERw
sin4x—25in2x—1=03ﬁlw
A B

2. sinl-S,cosl-S@asT%l

IRRE FA F § FA-01/8 T /87

(a) Fad 1

(b) F 2

c) 13 23N

(d) T 1MIH2

72, Tl iR &t & @ WE od | ¥ @

agsil P Q %, fFS O i @
100{3-+3)m ?, WM & frm ®
T F HEY: 45° IR 60° T HAR
1 a1 T 87

fa) 200 m
b) 250 m
fc; 300 m
(d) 3w & Q =g T
73. 4R sinx +cosx = ¢ @ sin® x + cos® x
Torerer TUR 27
1+ 6¢% - 3c*
(a) ST a—
1+ 6c? - 3c?
h -
(b) 3
1+6¢2 +3c*
fc) ———
16
1+ 6¢? + 3c*
@ —
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74. Tmataie sut ® fFEr fifsu

1. x % TR 08 v w1 orfdaem a2
fn

1
l-sinx

=4 +23, 0<x<g

2. sinx = 3% % fre off avefiE x
% g o i g

I FUA § F BE-T/T v B/R
(@) &I 1

(b) e 2

c) 132

d) Fa1sada

75. fs ABC Tt 9w % sl ©f=n

(zepTeeg) g | AR fngst Y sgemati = &t
w AW | % @ W oqoE 3, @
sin? A+sin? B+sin? ¢ s (=R
2

fa) 2

b) 3

(c} 4

(d) ITEE A Y HE TE

[P.T.O.



76. The area of a rhombus with side 79. The radius of a sphere is equal to the

13 cm and one diagonal 10 cm radius of the base of a right circular
will be cone, and the volume of the sphere

is double the volume of the cone.
(a) 140 square cm The ratio of the height of the cone to

() 130 the radius of its base is
square cm

fe} 120 square cm fa) 2:1
(d) 110 square cm (b) 1:2
fe) 2.3

77. Two circles, each of radius r, with
centres P and Q, are such that each fd) 3:2
circle passes through the centre of
the other circle. Then the area

common to the circles is less than 80. Water flows through a cylindrical
one-third of the sum of the areas of pipe of internal diameter 7 cm at
the two circles by the rate of 5 m/s. The time, in
5 minutes, the pipe would take to
(a) J3r fill an empty rectangular tank
4 4mx3mx2-31lm is
J3r2 {a) 28
(b) 3
(b) 24
J3r? {c) 20
fc)
2
{d) 12
(d) 3r?

81. The total outer surface area of a right

circular cone of height 24 cm with a
78. A sphere and a cube have same hemisphere of radius 7 cm upon its
surface area. The ratio of square of base is

their volumes is

{a} 327r square cm

faj 6:m.

(b) 5:m (b) 307w square cm
fc} 3:5 fc} 293m square cm
{d 1:1 fd} 273m square cm
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76. T ToEgyd 1, TR = 13 cm 39K

& fa@u 10 cm B, fa%a feran gm?
(@) 140 91 cm
(b) 130 T cm
(c) 120 31 cm

{d) 110 = c¢m

77. 3 T ¥, Foed s 6 B - 3, ¥

PR Q¥ vh® MG I F R A
AR T B A gE w IwERE
gA%d, <M1 gRl & &F%al % 4 &
uw-foRr @ form w0 87

79. W Mo $ e et amgda Tw ®

AMyR & G F oaua 3R U W
NG, T % I &l AT & | T
Femd o1 39% AUR i B @ e
w1 R7

faj 2:1
by 1:2
fcj 2:3

fd) 3:2

80. 7 cm i =NF G aTell Th SRR

It § 9t Sm/s F A |/ FEA 2
4mx3mx2-31m T Th AGdER

J3r el 6 A B 5 e A e e
@)

4 FN?
b B @ 28

3 (b) 24

J3r? c) 20
o =

fd) 12

(d) 3r?

81. % cragd Wi &1, fEd I8 24 em
2 afit gk sMM W 7 om B #1 @&
Fediien B, $6 a1 UEIG &Fwe fhd

78. TF Tt 3N Tw T & gEl SEhA WE N

F1 3T TGl % T A1 A9 T 87
(aj 327% & cm

(@} 6:m

) 5:n (b} 307n =t cm
{c) 3:5 c) 293n i cm
fdp 1:1 (dj 273n T cm

B-EFUA-O-PDW/52A 29 [P.T. O.



82. The last digit in the expansion of 85. A rectangular paper of 44 cm long

17256 g and 6 cm wide is rolled to form a
cylinder of height equal to width of
{a) 9 the paper. The radius of the base of
the cylinder so rotled is
(b) 7
fa) 3-5cm
c) 3
fb) 5 cm
dj 1
fcj 7 cm
83. A rectangular block of wood having (d} 14 em
dimensions 3mx2mx1-75m has
to be painted on all its faces. The
layer of paint must be 0- 1 mm thick.
Paint comes in cubical boxes 86. lf a-b=4 and a.2'+b.2 =40, where
having their edges equal to 10 cm. aaand 6b are positive integers, then
The minimum number of boxes of a” +b” is equal to
paint to be purchased is
faj 264
(@) 5
fb} 280
(b) 4
fe} 300
fc) 3
@ 2 {d} 324

87. The sides of a triangle are 25 cm,
39cm and 56 cm. The perpen-
dicular from the opposite vertex
on the side of 56 cm is

84. The diagonals of three faces of a
cuboid are 13, V281 and 20 linear
units. Then the total surface area of
the cuboid is

{a) 650 square units fa) 10 cm
{b) 658 square units (b) 12 cm
{c} 664 square units fcf 15 cm
(d) 672 square units (d) 16 cm
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82. 17250 & yan # wfaw 27 F41 27

faj 9

b) 7

) 3

(@ 1

83. 3mx2mx1-75m fmel s w

AFATHEN AHE! & GUE & AR 8T A I
1 2| 9= W 0- 1mm A T @
HT%QI %2 10 cm N 99 TR
fesal & amn B U= & w9--w A
fesa @R 9 =ifEw?

fa} S
b} 4
fc} 3

{d} 2

84. TF WM F dF UBI & fowol 13, 4281

3 20 T ST F &1 HAN F FA
g STk e 27

{a) 650 @i gaTg
(b} 658 =i gerg
c) 664 T FHE

(d) 672 =t 30

B-EFUA-O-PDW/B2A
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85. T& HTAHRK FIS &Y, e @R

44 cm ¥R HEE 6 cm B, MW (W)
TR FHIH I SI8E & SO Hag el
AT ST ST 1 59 YT S0 T o9
& amyr F e T 87

fa) 3-5cm
(b)) 5 cm
fe} 7 cm

fd} 14 cm

86. 9% a—b=4 3N a2 +b2 =40 B, wref

aﬁ(bﬂ?ﬂ%ﬂh%,ﬁa3+b6
foperdh aaR §7

{a) 264
(b} 280
{c) 300

(d] 324

87. @ B[ #i y={ 25 cm, 39 cm 3N

56 cm &1 56 cm @ S W @@ ¥
§ vl foraen 37

fa) 10 cm
(B} 12 cm
fc; 15 cm

{d) 16 cm

[P.T.O.



88. The diagonals of a trapezium are

at right angles, and the slant sides,
if produced, form an equilateral
triangle with the greater of the two

91. If the angle between the radii of

a circle is 130°, then the angle
between the tangents at the ends of
the radii is

parallel sides. If the area of the

trapezium is 16 square cm, then fa) o0 (b} 70°

the distance between the parallel

ides i

eS8 c) 50 (d) 40

fa} 2 cm

{b) 4 cm

fc) 8 cm 92, Let OA, OB, OC and OD are rays

in the anticlockwise direction
such that ZAOQOB=./C0D =100,
£ZBOC = 82¢ and LAOD = 78°.
Consider the following statements :

{d} Cannot be determined due to
insufficient data

89, From a circular piece of cardboard of
radius 3 cm, two sectors of 40° each 1.
have been cut off. The area of the
remaining portion is

AOC and BOD are lines.

2. ZBOC and
supplementary.

ZAOD are

fa) 11 square c¢m
Which of the above statements

(b] 22 square cm :
is/are correct?

{¢) 33 square cm
{d) 44 square cm fa} 1 only
(b} 2 only
90. Three equal circles each of diameter
d are drawn on a plane in such a
way that each circle touches the
other two circles. A big circle is
drawn in such a manner that it
touches each of the small circles
internally. The area of the big circle

is

{c) Both 1 and 2

fd) Neither 1 nor 2

93. At 8:30, the hour hand and the
minute hand of a clock form an

(@) nd? angle of
() md?(2-+3)2 (@) 80°
o nd? (3 +1)2 (b} 75°
2
70°
@ T3+ “
12 {d} 60
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88. UF THend o Toekol gEwOn W # 3R Al 91. AR wF v i Bt & 9 1300 #

e & fode gematt &l agmEr sm, @ F0 }, 9 Beefl & B w vl -t@mad

T g et § ° 9 anelt e & % i o1 o F A 27

A G AR By e S R A

oo &1 S9%d 16 @ cm g, 9 (@) 9C¢° (b) TC°

TR eTe % S R gl e 37

fa) 2 cm ¢} 3C° (dj 40

fb} 4 cm

fc; 8 cm

(d) IE T F Fwor Puife T8 & s 92, WM #ife 0A, OB, OC 3R OD awrEd
SN Rem § 3@ wer & @ 2 5

ZAOB = ZC0D = 100°, /BOC= 82

¥ = 78° 31 Prrferfaa wort
89. 3 cm B 9 ©F ™ % FHEA gHS @ ZAOD = 78° &1 w

Foram hifs -
4 T @ Breu-mve w1 9@ § 9 .
R =1 e F 37 1. AOC 3R BOD @M §|
@ 119 cem 2. £ZBOC 3 ZAOD GV &
(b} 22 9 cm I wudl & @ -8 w237
¢/ 33 afcm (@ ¥ 1
{d) 44 @t cm
(b) FaA 2
90. UF THAA W I U I, II® d AH .
9T, 36 TER ® oY 91 2 T vaE g (o) 1 3R 2 3
IR T gEl B T WA R TF &9 g9 [d @ 13MAH 2
39 YR @ dien s @ 7% 98 s 3R
99 B Al €1 F T e 39S
4 R Y 93. WF Ul § 8:30 =W, 7w H g 3N frw
(@) md? ) g& T Aoy T 7
(b) nd®(2-3)? (a) . 80°
o nd? (V3 +1)? b) 75
2
fc} 70°
@ nd? (V3 +2)2
12 (d) 6w

B-EFUA-O-PDW/52A 33 [P.T. O.



94. The complement angle of 8(° is

radian

(@)

radian

18
s
Sn

b_
(b} 3

I
18
9
an

radian

{c)

(d) radian
95. Consider the following statements :

1. If non-parallel sides of a
trapezium are equal, then it is
cyclic,

2. If the chord of a circle is equal
to its radius, then the angle
subtended by this chord at a
point in major segment is 30°,

Which of the above statements
is/are correct?

fa) 1 only

{b) 2 only

fc) Both 1 and 2
{d} Neither 1 nor 2

96. Out of two concentric circles, the
diameter of the outer circle is 26 cm
and the chord MN of length 24 cm
is tangent to the inner circle. The
radius of the inner circle is

{a) 5 cm
b} 6 cm
fc} 8 cm

{d} 10 cm

B-EFUA-O-PDW/52A
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For the next four (4) items that follow :

Consider the following frequency
distribution :

Class Frequency

0-10 4

10-20 3

20-30 7

3040 10

40-50 12

50-60 8

60-70 4

97. What is the mean of the distribution?
fa} 37.2
fb} 38-1
{c} 39.2
{d) 40-1

98. What is the median class?
fa) 20-30
(b} 3040
fc) 40-50
(d) 50-60

99. What is the median of the

distribution?
fa} 37
(b} 38
fc} 39
(d} 40

100. What is the mode of the distribution?
fa) 38-33
(b} 4066
fc] 42.66
fd) 43-33



94. 8(° F TH U FT 37
(a) %1‘%117!
(b) %i‘%m

I
18

9
(dj a‘d%’m

fc)

95. Ffafigs suA w famm fifsw .

1.l et amens &1 sramrat gemd
e &, @ 9% gnens WA §)

2. A% T ga A Har sgh s #
TR 2, @ 4 @z F el g w
34 Sfiar g1 et w300 R

TR el I A FH-A1/E ad 2/E
(@) FIG 1

(b} A 2

(c) 132 aA

(d) ad1ARTE2

96. T Wkl A T W, @ IW W AW
26 cm 2 3 24 cm @ SET MN,
Al g9 W el §1 safe ga &
e w7

fa) S5 cm
fb) 6 cm
fcj 8 cm

{d) 10 cm

B-EFUA-O-PDW/52A

T IR TR TR (4) TvAi9n & e
Frfefga aemar sved @ faan fifse

it FREATT
0-10
10-20
20-30
30-40 10
40-50 12
50-60 8
60-70

. HUZH &1 W A7 27

(@) 37-2
(b} 38-1
) 39.2
(d) 401

. AT a2

(a} 20-30
(b) 30-40
(¢} 40-50
(d) 50-60

. "ua i arfeden o 27

{a) 37
{b}) 38
fc) 39
(d) 40

. WO F AGAH 1 &7

(@) 38 33
(b} 40-66
fc) 42.66
(d) 43-33
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Note : English version of the instructions is printed on the front cover of this Booklet.



